Algebra M.C.D e m.c.m. '|'I"Cl pOIinomi

calcola il MCD e mcm tra i seguenti gruppi di polinomi

3x2 - 121'
2 MCD: x — 2
L 4x 16x + 16 mem: 12x(x — 2)%(x + 2)
x% —2x
x* + x%y? 2 4 2
2 x4 _y4 MCD:x“ +y

mem: x2(x? + y2)%2(x% — y?)
x* + 2x%y% + y*

a® —2a*+a
4 3 MCD:a(a—1)

3 —
a4 az mem: a3(a — 1)%(a + 1)
a —a
m* —m3
4 2 MCD: m(m — 1)

4 m —m

m*—m

mem: m3(m—-1D)m+1DM?* +m+1)

a’b? + a®bc
4 2.2 MCD: ab

ab® + ab“c mem: a?b?(b? + c2)(b + ¢)(a + x)

a®b3 + a3b%c + a’b3x + a’b?xc

mi+m+mn+n

6 |lm+m—mn—n

m2—m+mn—n

MCD: 1
mem: (m? —n?)(m? — 1)

Xt —yt
7 | x3 —x?y —xy? +y°
Xt + yt — 2x2y?

MCD: x? — y?
mem: (x — y)?(x + y)*(x* + y*)

md—1
3 _ MCD:m—1

8 | m m mem: m(m — 1)?(m + 1)(m? + m+ 1)

m?—-2m+1

2uty — 2ulv3
9 | 4udv? + 4uvt
—2uv3 + 2utv

MCD: 2uv
mem: 4udv?(u + v)(u — v)(W? + v?)

x° — 16x
10 | x° — 4x3
2x3 — 8x — 4x%* + 16

MCD:x — 2
mem: 2x3(x + 2) (x — 2)(x? + 4)

m2 —2mn+n?—4

11  m—n+2

m2 —mn + 2m

MCD:m—n+2
mem:m(m —n+2)(m—n— 2)
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12

2x3 — 2xy?
xy —y°
2x2 — 4xy + 2y?

MCD:x —y
mem: 2xy(x — y)%(x + y)

13

3m—6n
6m+ 12n
m2 — 4n?

MCD: 1
mem: 6(m — 2n)(m + 2n)

14

X2 —x+xz—2z

x% -1

xy—y—x+1

MCD:x —1
mem: (x —Dx+Dx+2)(y—1)

15

1—-3a+3a%-ad°
x+a—ax—a?®
X — ax

MCD:1—a
mem: x(1 — a)3(x + a)

16

(m? — 3m + 2)?
m3—m?—4m+4
m3 —nm? — 4m + 4n

MCD:m —2
mem: (m — 2)2(m — 1)?(m + 2)(m — n)

17

(x? —9)(x? + 4)
(x? —6x +9)(x3 + 4x)
(x? + 6x + 9)(x* + 4x?)

MCD: (x* + 4)
mem: x?(x? + 4)(x — 3)%(x + 3)?

18

3a3 —4a% + 5a — 4
3a3 +5a% +2a+8
15a? + 5a + 20

MCD:3a* —a+4
mem:53a? —a+4)(a—1)(a+2)

19

3a3 —2a%* +3a—-2
9a? — 4

MCD:3a—2
mem: 3a—2)(Ba+2)(@®+1)(a+1)

3a°+a—2
6u’+u—2
2 MCD:2u—1
20 iu3 u mem: u(2u — 1)Q2u + 1)(Bu + 2)
u —u

21

2m3 +m?2 —18m —9
m2—m-—6

m2—9

MCD: 1
mem: (m+2)(2m + 1)(m — 3)(m + 3)

22

a’+3a+ab+3b
a’® + 2ab + b?
a®—9a+a’*b —9b

MCD:a+b
mem: (a + b)%(a + 3)(a —3)
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Algeb
t? — 5tz
, , MCD: t —5z
4t4 — 100z
23 4
£2 mem: gt(t + 52)(t — 52)?
— — 2tz + 522
5
2x3 —x%2—-7x+6
2x2 +7x+ 6 MeD: 2x =3
24 2x2 4 x—3 mem: mx(x — 1) (x + 2)(2x + 3)
2mx% — 3mx
2 .
3xc — 12, , MCD: x —2
25 4x° —16x + 16 mem: 12x(x — 2)?(x + 2)
x% —2x
2 2
4a —x“ +a“ +4 MCD: (a+x+2)
26 | 5a+ 10 + 5x mem:5(a+x+2)(a—x+ 2)
a’ +x%+4+4a+ 2ax + 4x
2n .2
xzn yzn MCD: x™ —y™
n n __ na,Mn
27 | X" +y 2x"y mem: n(x™ — y™)?(x™ + y™)
nx" —ny"
3 2 o
m>+m-—m-—1 MCD: m +1
28 m2+2m+1 1
m 1 mem: E(m —1D(m+ 1)?
__I_ —
2 2
y2+2y+4 MCD:y* +2y + 4
29 3 3
y3—8 mcm:y° — 8
2
2x2 + 18x + 16 MCD: 2
30 | 2x° — 128 mem: 2(x —8)(x + 8)(x + 1)
2x% —14x — 16
4
x4_92 MCD: x? + 3
3 |[x*+x“—6 mem: x(x? — 3)(x? + 3)(x% — 2)
x3 + 3x
x3 —4x%+5x —2
2 MCD: (x —1)(x —2)
32 | x“—3x+2
mem: (x — 1)?(x — 2)2
x3 —5x%2+8x—4
2 _
x2 1 MCD: x+1
33 |x“+2x+1 mem: x%2(x + D?(x — 1)
x3 + x?
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2
3x“+3 MCD: 3(x + 1)
34 sz"' 36 mem: 6(x — D(x + D (x2 —x + 1)
x —

ax+x+a*+a
35 | x3 + a3+ 3a%x + 3ax?
ax —x+at—a

MCD: x +a
mem: (x +a)3(a—D(a+1)

Z(x - :V) MCD
2 .2 Xy
36 | X°—y ; mem: 2(x +y)(x — y)?
(x—y)
4x% 4+ y* — 4xy
5 : MCD: 1
37 | 4x° +4xy +y mem: 5Q2x — y)?(2x + y)?
10x — 5y
(x — y)? MCD: (x — y)
) B 5 Xy
38 | (x +¥)2(x—y) mem: 100(x — y)2(x + )2
100x — 100y
x% — 16y?

MCD: x — 4y

2 _
39 | x2 + ax — 4(xy + ay) mem: 3(x — 4y)%(x + 4y)(x + a)

3x2 — 24xy + 48y?

3a® + 3ab
3 _ 2 MCD: 3a(a + b)
40 124ab 122419 mcm: 36ab(a? — b)%(a? — ab + b?)
6a*b + 6a
a’ — 4b?
3 _ 2 MCD: a—2b
41 ?a 22; b mem: 2a®(a — 2b?)(a + 2b)
a —
a6 _ b6
2 2
" a‘—>b MCD: 1
a3 + b3 mem: (a® — b%)(a? + ab + b?)(a? — ab + b?)
a® - b3

3 2
3x° — 6x° — 45x MCD: x(x — 5)

43 | 2x* — 2x3 — 40x% mem: 6x%(x —5)%(x + 3)(x + 4)
6x3 — 60x? + 150x

3x* 4 3x3 — 18x2 MCD: x2(x — 2)
44 | 2x° + 4x* — 16x3 mem: 6x3(x — 2)%(x +3)(x + 4)
6x* — 24x3 + 24x?
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